CKD

CKD#zti=4t



ISO 4414 *1 JIS B 8370 *2

*1) 1SO 4414 : Pneumatic fluid power Recommendations for
the application of equipment to transmission and
control systems.

*2) JIS B 8370

1 [SM-154037]



1.1
1.2
13

2.1

3.1
3.2

4.1

4.2

4.3

51

HMVC2, HSVC2
HMVO2, HSVO2

No. SM-154037

11

1996.08.30
2002.09.09



5 50
5 50 ( )
0 1.0MPa
1.5 MPa
HMv C 2 Hsv C 2
0 o)
Rc 1/8 /8 | w4 | 3/8 | 12
mm? 8 40 50 55 55
1)
® HMVC2-8-4H, 4V
® HMVO2-8-4H, 4V 4-¢ 5.5
338
4-M5
9
95
4-Rel/4 4-Rcl/4
(2 V: ) ' : ) o
. ; S
- {(C &
= z ' | IN | EXH
; X, m$ i IN&X | ;
. R T A S—
(74) & '
I 4-Rcl/4
A 2 V:
A A ( )

_3 [SM-154037]



N
4

® HSVC2-8 20-4H

4-M6
® HSV02-8 20-4H 4965
[T
, 130
©78
I BB
4-Rcl/4 4- 2 b
(3 V: ) (3 V: )
; . <
o i ’L\ y i
= o ; 18
INAT “—H EXH
o ﬁm
I P A a —
07 * "
S
4- 2
A 1
A (3 V
A B c D E F
HSV 2-8 15-4H 132 105 42 15 6 08
HSV 2-8 154V 132 105 42 15 6 104
HSV 2-20-4H 137 110 47 18 10 98
2) JIS
® HMVC2, HSVC?2 ( )
1 N 2
CYLI CYL2
1 I
T T
IN  EXH

® HMVO2, HSVO2 (CYL1, CYL2, EXH )

1 N 2
CYL1 CYL2

AT T

T
IN EXH

[SM-154037] 4



1.
1
XJE
sﬁﬁ) il
N ==F jir=al}
. ' ] 2
2. ABR
il ]
= QB
v _I,—?gl_
. ' ] 2,
3. ABR

H,

HMV 500Ncm3/min ANR HSV
1000Ncm3/min ANR ( 1/10 )

( 10Ncm3/min ANR )

_5_ [SM-154037]



1)

(5 m

2)

3)

1 1SOVG32

4)

EXH

5)

[SM-154037]



(
)
EXH | /N
e |
\
] &/
o
()
o
CYLI
1 o IN - CYL1,CYL2 - EXH
2 : IN - CYL2,CYL1 - EXH
N : (HMVC2, HSVC2)
. CYL1, CYL2, EXH (HMVOZ, HSVOZ)

7 [SM-154037]



1)

2)

3)

4)

[SM-154037]

1/2

l/
///4

S-=

N m
Rcl/4 6 8
Rc3/8 13 15
Rcl/2 16 18
Rc3/4 18 21
1.2 HSV 4-M6 HMV 4-M5




1)

HMVC2
HSVC2

IN

ZDC2 | 1 PE 1

ZzDC2 | 1 suUs304| 1

zDC2 | 1 suUs304| 1

ss41 1 NBR | 1 | JISB2401G75 (G45)
ZzDC2 | 1 NBR | 1 | JISB2401P12 (P5)
sPcC | 1 ss41 | 1

SWRM | 4(3 SS400 | 4 V)

ss41 1 @ sCM3 | 4 M6x 12 (M5x 12)

SS41 1 ) HMVC2

SWP 1

[SM-154037]



HMVO2
HSVO2
H
IN
ZDC2 1 PE 1
ZDC2 1 SUS304 | 1
ZDC2 1 SUS304 | 1
SS41 1 (0] NBR 1 JISB2401G75 (G45)
ZDC2 1 (0] NBR 1 JISB2401P12 (P5)
SPCC 1 SS41 1
SWRM | 4(3) SPCC | 1(0)
SS41 1 (0] NBR 2 JISB2401P7 (KS2)
SS41 1 (0] NBR 1 JISB2401G65 ( )
swp | 1 SS400 | 4 )
@ SCM3 | 4 | M6x 12 (M5x 12)
0) HMVC2
2) o)

[SM-154037] 10



H)v(©)2-(8)-4()

(@

(b)

()

(d)

(a) (b) (© (d)
M C 8 Rcl/4 H
o) ABR 10 | Rc3/8 v
15 | Rcl/2 20
20 | Rc3/4
HMV
Rcl/4

— 11—

[SM-154037]



